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CHISTATEMENT OURSES OFACTION

ANSWERSAND EXPLANATIONS

Money is very important for the execution of any
plan. Reduction in other expenditures will
definitely help to raise money. Hence I follows.
Any programme can not succeed without a good
planning. Hence II follows.

I is advisable because it will prepare the farmer
to face the situation (in a better way) well in
advance. II is also advisable because it will be
helpful to cope with the problem related to water.

Clearly, such projects shall be an asset and a
source of income to the country later on. So,
course I shall follow.

Since severe damage has been caused by cyclone,
people in affected villages ought to be shifted to
safer places. Also, since relief work entails huge
amounts, financial help from Central Government
1s a must. So, both the courses follow:

The effectiveness of such Control Boards is
established by the fact that Orissa and A P/ have
agreed to it for better control of its multipurpose
projects.So, only course [ follows.

The problem pointed out in the statement is the
over crowdeness of the footpaths, which are
meant for the pedestrians. So the problem must
be either lessened or completely solved for any
of the courses to follow. I follows as this will
completely solve the problem. II can also solve
the problem as the pedestrians can move easily.
Hence either of I or II follows.

Clearly, the two diseases mentioned are caused
by unhygienic conditions. So, improving the
hygienic conditions i1s a step towards their
eradication. Also, constant medication will help
timely detection of the disease and hence a proper
treatment. So, both I and II follow.

I 1s advisable because partial cut in supply will be
useful when water crisis occurs. 11 1s also
advisable because minimal use of water by people
will help conserve water and ensure smooth
supply in future. Both the courses will lead to
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increase in the water level.

Explanation: Since the act has been repeated
despite various warnings, so course I would only
be another warning and would not help. Severe
punishment to set example for him and others is
inevitable. Thus, course II shall follow.

Explanation: The disease occurs at the end of
Monsoons every year So, precautionary
measures every four vears shall not help. The
second course of action-shall be a preventive
measure. So, only-course II follows.

Explanation: Clearly, the non-infected persons
should not be debarred from visiting India. So,
only course II follows.

Explanation: The statement implies that capsule
Vitamin E does not function so effectively as
natural Vitamin E. Since no negative effect of
capsule Vitamin E is mentioned, so I does not
follow. Hence, only 1T follows.

Explanation: Clearly, war is the last resort. First,
peaceful talks and negotiations should be indulged
in, to settle the issues of dispute. So, only course
11 follows.

Explanation: Clearly, curtailing of the staff
strength will only increase the panic and
discontent, and the satisfaction of the employees
is a must. So, the Government should arrange
for payment of wages. Thus, only course 11
follows.

Explanation: Clearly, either something should
be done to alert the trains well in advance in case
of a landslide or some means should be adopted
to prevent blockage of tracks during landslides.
Thus, either T or II follows.

Explanation: Clearly, the library needs to be
provided with the essential facilities and trained
personnel for better services. So, both the courses
follow.

Explanation: Clearly, internet users should not
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suffer on account of certain individuals who
indulge in internet hacking. However, such
wrong-doers ought to be penalised so that there
are no hassles in the use of internet. So, only
course [ follows.

Explanation: The police should at once be made
cautious and put on high alert to prevent any
untoward incident. Also, once caught, such
criminals ought not to be released. They can be
interrogated to detect other criminals. So, only [
follows.

Explanation: The failure of a majority of
students hints at there being lackenings on the
part of teaching faculty, which need to be pointed
out and removed by constant efforts. So, none
of the given courses of action follows.

Explanation: Clearly, I is vague because if
infected people are shifted to a non-infected area,
the infection will spread there as well The remedy
is only to fight the disease and restrict its spread.
So, only IT follows.

Explanation: Clearly, internet users should not
suffer on account of certain individuals who
indulge in internet hacking. However, such
wrong-doers ought to be penalised so that there
are no hassles in the use of internet. So, only
course | follows.

Explanation: Crowding on footpaths is a great
inconvenience for walkers. So, stern action needs
te be taken to remove the vendors. But at the
same time these people ought to be provided
alternative means of livelihood. So, both the
courses follow.

Explanation: Clearly, either something should
be done to alert the trains well in advance in case
of a landslide or some means should be adopted
to prevent blockage of tracks during landslides.
Thus, either I or II follows.

To avoid testing at the primary level admissions
the government should take the course of action
TIT .

The best option in this case 1s to divert the load
of vehicular traffic through various link roads
during peak hours.

The officer-in-charge of production should be
suspended so as to ensure that this kind of a
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problem does not happen in future. Also the export
order should be sold to the other party.

If the entry of outsiders were stopped how would
the victims get the help. Hence surely course of
action (I) does not follow. Now if the civic
administration is making alternate housing
arrangements for the victim there is no
requirement to shift them and viceversa. Hence
IT or III follow.

When the disposal cost is already higher then it
will effect already by making disposal cost much

higher.

Train drivers are not supposed to, nor able to
stop trains in such situations, hence [ is ruled
out. Due to collision with running train, chances
of bus driver’s survival is negligible, hence 1T is
ruled out. ITI gives a preventive measure for such
mishaps.

Statement I doesn’t suggest a precautionary
measure. for future; which is there in II and III.

Statement III puts all responsibility on fishermen
alone. Watching a mishap is no cure for the
mishap.~Statement I is corrective measure and II
1§’ precautionary measure.

Eating habit of a society develops through
centuries and is impossible to change, hence 11
can’t be implemented. I and ITI will help address
the growth in demand.

Faculty members should be persuaded not to go
on strike and an action against the members who
join the strike should be taken.

All the three courses of actions follow in this case.
The chemical industries are discharging effluents
into the river which may be hazardous hence the
chemical factories should be closed down. Now
that the water is polluted, it has to be treated
chemically before resuming supply, otherwise it
may affect those using it. This also gives an
example to Pollution Control Board to keep a
check to prevent any mishappening at regular
intervals. .

To avoid testing at the primary level admissions

the government should take the course of action
I11.




